FEKih s (BRKith4a) TEEBARDB(EES
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EKEZ il = E) 9:20 10:55 10:15 10:00 11:15 10:20 10:35 10:25 10:45 10:40 10:25 9:45

KB °C =18 13.6 22.1 25.2 24.2 28.6 27.9 26.3 15.5 14.0 10.2 10.4 11.7

— i E 18/ml 100 0 0 0 0 0 0 0 0 0 0 0 0

N — |mHEnmnce PN T TR T TR T TR TR TR TR T TR

BEUVZDIEEY mg/L|  0.01 <0.001 <0.001 <0.001 <0.001

ANEIOLEEY  |me/L|  0.02 <0.001 <0.001 <0.001 <0.001

o EMAAZRE | ol oot <0.001 <0.001 <0.001 <0.001

e me/L 0.6 0.06 <0.05 <0.05 <0.05

HOOEEE meg/L|  0.02 <0.002 <0.002 <0.002 <0.002

sookiLLs meg/L|  0.06 0.014 0.017 0.011 0.008

CHOOEEE me/L|  0.03 0.003 0.004 0.003 0.007

<JOoE/O0024> |me/L 0.1 0.002 0.001 0.002 0.002

REER mg/L|  0.01 <0.001 <0.001 <0.001 <0.001

LR AOARY meg/L 0.1 0.023 0.024 0.020 0.015

) OOEEE: mg/L|  0.03 0.011 0.010 0.009 0.008

JOEo/O0A4> |mg/L|  0.03 0.007 0.006 0.007 0.005
KJOEHRILL meg/L|  0.09 <0.001 <0.001 <0.001 <0.001
BIRILLTILTER meg/L|  0.08 <0.005 <0.005 0.005 <0.005
BB VZEDIESY |me/L 1 0.008 0.011 0.007 0.005
4@17':’%"%—'7/"&”%0) me/l| 02 0.015 0.012 0.020 0.015

HEVZDIEEY meg/L 0.3 <0.01 <0.01 <0.01 <0.01

BHRUVZDIEEY mg/L 1 0.005 0.004 0.004 0.004

RUAVRUVEDIES Y| me/L|  0.05 <0.001 <0.001 <0.001 <0.001

Bl A4 mg/L 200 9 9 9 9 9 8 9 9 9 9 9 9

AREZREY mg/L 500 76 68 88 72

I AIY ng/L 10 A A A 1 A A 1 A

2-AF ILAIRILFA—)L [ng/L 10 A A A A A A 4 A

ﬁ%@a@%ﬁ EEs meg/L 3 0.7 0.6 0.7 0.7 0.6 0.8 0.8 0.9 0.8 0.8 0.8 0.7

pHIE — | 58~86 75 7.4 75 7.4 7.3 7.4 7.4 7.6 7.5 7.6 7.4 75

R — [Bgonunce| EBEgal| BEEggl| BEEgL] BE4L| BRE4L| BER4L] 2Exal] Eual] mEal] BExal| Bgal| BEwgal

BER — [Bgonnce| BEgal| BEggl| BEEgl] Beggl| BE4gL] BERalL]  2Exal] mEal] mEal] =mxal| Bgal| BEwal

BE E 5 <05 <05 <05 <05 <05 <0.5 <05 <05 <05 <05 <05 <05

AE E 2 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1

vooo7tb=kJJL [mg/L| 0.01

|AKkIOZ—)L mg/L|  0.02
& TR BIER mg/L| 01Kl E 0.4 0.3 0.3 0.5 0.4 0.3 0.4 0.6 0.4 0.5 0.5 0.6
g 31 B e B meg/L 20 3 3 4 3
BIR X 5EE(TON) — 3 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1 <1
e o . " —I*ETE‘_.‘J{:‘&

BERMEGUTITER)| — pslgﬁgnouhﬁ -1.2 -1.7 -1.1 -1.5

i)

HEFEHE 1&/ml 2000 1 1 0 0
z FILHE mg/L — 34 23 45 31
D ERmERE 1S/om — 111 97 107 105 85 105 114 125 125 127 104 99
mﬁ)lx)f?A»fT*z mg/L — 13 10 16 12

LNRBRIEE260) | — — 0.009 0.010 0.009 0.010 0.009 0.010 0.012 0.009 0.011 0.008 0.009 0.009




